E= (R £PsEER

BATIRFRE (3t 60 4
1—5BBDDD 6—10BAACA 11—15DBDDC 16—20BDBBD 21—25CCCBC
26—30DBBCA 31—35BBBAB 36—40AABCB

iR (3£ 40 2D
41. (%14, 8740
(D) ZZFEI (2) BRI (3) WK (D ¥ o
B B ALK Htb
42. (% 14y, H1240)
(1) T
(2) [H] ATP 4Hj )i FE i
(3) HERH o
(4) JgWi
(5) HFFETCo AR AEMEYIR e RE R RS E 80—120

43, (B2 1%, 1240

Bla
CO»+H,0 ——»CH,0+0
D geem o TERE T
(2) &tk
(3) ATP [H]E{ NADPH CH,O A N4
(4) C3 Wb EL COL HYIE i
5% 1 A I FaE

44. (g7 14y, 34 (DO 228 )@@ E&EEA%T)
45. (FF75 141, 35541
(2) FEREFRBMMBEER) “TaE W
(3) KR/NFIKFAAHTF
(4) /NEGHWER KGRI UMY B 2240
A NEARKIER, B /NEAKAER, - REAEH
WK KB T



